A BUVANCce N M /Auq—odzp};éiﬁ@

Loq@ Pefﬂ) CL"ETO(" a{v'/wf@?grore Oé\&

:P[K)= A9 +3x 4 - - - +({)_|>X%"—
e\ 1/\M@é(\/uu,0 A ZP

~
Q(X\ oA EXod o4 ><P

Q‘M\:PCMP
Q) = —F

1 - PX (- —/XPM
D x) = D( 1~x> e<~))
Pooz U= NO=0)  sexa 1 ()
PCvy=z0  Cp)
PCX)JC/QCC 7/

= Q( OV Q‘\h\' V0 mad P

L

94 [ % /( @Z/; YA

B'ngh*or\e oﬁ& QZWJrfiE aQ vorere o v e
67(»\/»3»\9\@@ 6‘9\» 'TML‘M/'ch Pﬁwﬁ.




S fol, e suscomo, fa ololiunes
rcioin | g2 {MD/ dn . ﬁ}owg<w .
B&—o e Z. Se @ o louswo {Q\,,—M/tj e @ W‘

O~ O~

\J 7 L
M[ a0 )]w

b T N Jos1 Voo Y= o

n+T, V)H_C%/ no+t ol ‘w“&wa
fwg/@l‘

(hT\ Mom & ume. (b\?cf,m@
O Pwimo E.c. p@Hbﬂ
M= | (pw /V\EL CQ

m o+ = b= (P> = U;(N\QJr@:%OCJVO

n + %Elcﬂ )
o /

¢

otk = @ \Q %/
g Etr#xt(g)




AL /4
Sh) < =14

I, 4,5 /
N= D +TJ+ - - 4+ 11

(2= %o —i—’bL)
S C\/%) T \/)brz’,__ A

—
=

o

) 0N =% 20 lustome (D
7. \A;LQH [01'1’

an” = Qa4 (k)

4 V)(L v Loobrlhy v

d—

Sow/w\ L 4L £ kK & 05y 7/\%/\*"1(5%\' Z@C&»‘a con



AR ANANER SRR

1
LV= V) + Vll—lf o o

4

.- - ke
qwﬂd o

Seu)zint s¢  —» SGw)=14wvw =g

Ve e W—Séé%é Wz”lc“ y\/"%o S Crn e e

WWWC&?MO_J%

110 84/

0 é£(k+\) -@d&) £ 2

Ay 32 Ao
Dk +7. K+\é(
2 ket
V.4
i) = LUO(x 1)
JO> m L) =m
AV_ L(-—\'\ A’V.d—'L
A& LUt 2

Q%+$::2M+w+<ﬂdk

[ 600 .. (]| =2 K«

(ﬂl<h9_-hlolt:2%+3
kK=100... | =2+
K= P



b

(@

N\
/.
/
N
\
—~~ \\l
AN
Y
N\
) N
N
< 4
//. ,
—
Y
\
- O \ .
D N O
1L VoS
NENEN O




